CONTRACTS II OUTLINE

K? Yes

Way out?

I.  False Assumptions (relief here is usually rescission and restitution)

A. Mistake

a. A belief that is not in accord with the facts.  An assumption that is false at the time the K is entered into (has to go to the very basis of the K) (§151)

b. Mutual mistake- if both pties share this mistaken belief about a basic assumption of the K, the K is voidable by the adversely affected pty unless that pty bears the risk of the mistake (§152)

c. Unilateral mistake- one pty holds mistaken belief, if you are the only one making mistake, generally not grounds for relief, can get out if mistaken pty doesn’t bear the risk of mistake AND show uncon or other pty knew/had reason to know you were making a mistake (good faith aspect) (§153)

d. Who bears risk of mistake

i. risk is allocated to him by agreement of the pties 

ii. if pty is aware that she has limited knowledge but proceeds anyway 

iii. if the ct says so (§154)

e. Analysis

i. Identify Mistake

1. can be mistake in fact (“oops” MMM marking (unil mistake) in Reed’s Photo Mart v Monarch Marking System) or mistake in judgment (Rose the cow, I thought I was buying this and I wasn’t)

ii. Whose (mutual/ unilateral)

iii. Who bears risk

1. Usually person who bears the risk loses, ex: buyer bore the risk that cow was not barren in Sherwood v Walker
2. tends to be a fairness issue

3. Someone always has this

4. whoever acts on limited knowledge bears the risk

f. to get relief, you have to show you were mistaken and didn’t assume that risk

g. warranties and warranty disclaimers are risk shifting provisions

h. judged at time of MM

B. Impracticability

a. Impracticability = can get out of K when supervening events change the circs on which the K is based
b. Can get out of K due to imprac unless lang or circumstances indicate the contrary (§261)

c. Impossibility is point along spectrum, past imprac

d. Diff from mistake- pties’ assumptions about the future turn out to be false, w/ mistake assumption false at time K entered into

e. Analysis

i. Was there an event that made a basic assumption false?

ii. Did the disadvantaged pty cause this event?

iii. Did that event make perf impossible/ impracticable?

1. To be imprac- need more than it is more costly, more than it is inconvenient, more than “I don’t want to now b/c I won’t make as much money”

iv. Did the disadvantaged pty bear the risk?

1. even if it is imprac, if your bore the risk, you lose

f. Can only succeed if you can show imprac and you didn’t bear the risk

g. Assumptions made at time K entered into, triggered by event that occurs after MM

h. Northern Corp v Chugach Electric- assumption that they could transport rocks across the ice, impossible to perform the way they had agreed upon, other methods (building road around lake) would have been huge diffs from what was contemplated

i. Eastern v Gulf Oil- assumption pricing system would reflect the market price and wasn’t working- Price alone not enough to fall under imprac, not enough evid to show hardship, even if there had been enough evid, energy crisis was reas forseeable

j. Force majuere clause- if blank happens it is not my fault and I am out of the K- ex: if there is a natural disaster, I am off the hook (what farmer should have done with his corn crop before damaged badly Conagra v Bartlett)- can be v broad or v specific

k. Hardship clauses- more common in int’l Ks, sets out framework for resolving a dispute that is short of a FM clause, not meant to supplement FM clause- shifts K to being something more fluid, if circs come up, pties go back to negotiating table

C. Frustration of purpose

a. Supervening event has not affected the perf but the whole point of the K has been destroyed by the event

i. Diff from imprac- I can perform but I don’t want to

ii. Similar to imprac- changes basic assumptions of K, supervening event no fault

iii. To keep separate from imprac ask whether the performance has changed

1. If yes, go to imprac

2. If no, go to frustration of purp

b. Analysis

i. Identify false assumption

ii. Was purpose frustrated?

1. Ex: citizens stopped construction of medians (to replace grassy area), now general contractor doesn’t need barriers from sub- purpose frustrated- Chase Precast v Paonessa
iii. Was event foreseeable?

1. Ex: car salesman knew war was coming when signed lease to sell cars- Lloyd v Murphy
iv. Did disadvantaged party bear the risk?

c. Assumptions made at time K entered into, triggered by event that occurs after MM

d. Parade case- A leases apt to B for 1 day for lg amt to watch parade, prde cancelled 

K? Yes

Way out? No

II.  Scope
A. Finding the Terms

a. Parol Evidence Rule
i. If the writing is a complete integration, you cannot add to it or contradict it. If it is a partial integration you cannot contradict it but you can add to it.

1. Assumes writing is best version of terms agreed to

2. Builds defensive wall around the writing

ii. ** Only applies when have a writing and only applies to prior and contemporaneous agreements (NOT to subsequent agreements)

iii. Purpose: to find the terms the pties agreed to

iv. Analysis

1. identify writing

2. identify extrinsic term

3. Analyze

a. Is it an integration?

i. Did pties intend for writing to express their final agreement w/ respect to the terms in the writing?

ii. Factors to consider: circs, formality of writing, course of negotiations, business experience of pties, involvement of lawyer, review by both pties, Markings indicating draft, signature

b. If yes, is it: Partial/ complete?

i. depends on which test you use

c. If partial, are addtl terms: supplemental/contradictory?

i. Depends on how strictly you want to apply these terms- majority says contradiction means contrary to an express term so not added

v. Diff approaches
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vi. EXCEPTIONS:

1. Fraud, mistake (dump waste on land- mistakenly omitted from K), duress

2. Condition precedent to formation of the K

3. Collateral agreement

4. Modifications 

a. be sure to look at timing- PER won’t apply to extrinsic terms agreed to after the writing signed/ agreed to b/c those extrinsic terms are modifications (transaction to borrow money from bank to purchase packaging company, Kehr v Fidelity, Penn)

5. Interpretation- evidence to show what is meant by a term in written K is permissible- Enos thinks this is sep thing

vii. no oral modification clause not effective b/c pties could always agree orally to modify- UCC recognizes NOM clause but recognizes waiver where reliance on oral modification

viii. merger clause- says agreement is complete, attempt to supersede any prior oral agreements (aka integration cl)

ix. Liberal policy: trying to figure out what pties actually agreed to

x. Conservative policy: writing is more reliable than what people say

B. Meaning/ Interpretation

a. When a K’s terms are unclear can bring in evidence to show what is meant by a term, how it should be interpreted

b. So much of this kind of problem is avoidable

c. Purpose: to find what pties agreed to

d. Analysis

i. Identify K

ii. Identify term/ language

iii. Meanings π/Δ

iv. Tools

1. Plain meaning- language, grammar

a. Placement of a comma changed the meaning for a construction K cap on costs, not ambiguous (Lewis v Carnaggio)

b. Penn likes to just look at this- option to buy based on market value of premises according to county assessment rolls is the term even if it is unfair to the seller (Steuart v McChesney)

2. Context in K

3. Rules of construction

a. Specific terms trump general terms (project vs units for housing project K Flower City v Gumina)

b. When unclear, fault lays on drafter of K 

c. Construe terms in way to give them meaning

4. CP, CD, UT (UCC)

a. In case where meaning of “chicken” at issue, court relied heavily on market conditions and market definitions (Frigaliment v BNS)

b. When pty knows or has reason to know of UT, they will be held to those definitions (Hunt for Red October (ok to print before October but not to sell) and first quality fabric does not mean 0 flaws according to Textile Assoc))

5. Circumstances

6. Other extrinsic evidence

e. more conservative juris place greater emphasis on the writing, the lang that is used

f. More liberal courts like CA will look at all evid even if lang is clear- borrower trying to get out of K to take advantage of lower interest rates, “maker shall not have right to prepay for the first 12 years” need to look at all evid (Trident v Conn General Life Ins Co)

C. Gaps

a. Ct will fill in terms that are reasonable in order to make it workable

b. Diff from PER- by adding extrinsic term with PER you find that K= written instrument and extrinsic term pties agreed to, with gap filling, ct is supplying term that pties did not agree to

c. Diff from interpretation- with gap filling no evid that pties thought about situation and some intention w/ respect to it, with interpretation there is that evid

d. Diff from indef- if K not definite enough, ct cannot fill in gaps to create a K when none was intended

e. Less focus on intent of pties, something was left out of K that should have been included

f. Types of terms that can be implied: anything except quantity under the UCC, reasonable term supplied by cts under common law

i. Duration- if no lang about duration law will fill in gap w/ terminable at will provision, exception: have to give store owner enough time to recoup initial investment (shoe co and store owner Lockewill Inc v US Shoe Corp)

ii. Obligation to use good faith- implied obligation in every K- lack of notice from Shell to Nanakuli about price increase

iii. Obligation to use best efforts- none where minimum rental + profit from car washing, if there had been no minimum rental switching from car washing not ok (Dickey v Philadelphia Minit-Man)

III.  Has the K been breached?
A. Rule: a breach is a failure to perform a duty, anything less than full perf is a breach, entitles the non-breaching pty to a remedy

B. Analysis

a. Identify duty in question.

b. Identify any conditions.

c. Has the condition been satisfied (excused) or has it failed?

d. Has the duty matured?

e. Has the duty been breached?

f. Is the breach material?

g. Is the breach partial or total?

C. Conditions 

a. Events that are not certain to occur that effect duties

b. Purpose: to shift risk clearly

c. Origin: pties or from the law

d. Pties can put a cond on a duty- if the cond is met, then the duty matures, if not met, then the duty doesn’t 

e. Diff from duty- cond is not breached, it is satisfied or excused or it fails, this then impacts the duty 

i. Duties come from promises

ii. Promises- agreeing that something will or will not happen

iii. Duty- obligation to perf that promise = PERFORMANCE 

f. Types 

i. Pure cond- cond attached to a duty that doesn’t create an obligation, no breach resulting from its failure (just causes related duty not to mature)

1. “K is subject to and conditional upon buyer obtaining mortgage financing”= cond to get financing, has obligation to use due diligence to get financing, doesn’t have much control over if can get financing (Luttinger v Rosen)

ii. Promissory condition- promise which creates a duty to perform and is also a cond on the other pty’s duty to perform- cond and duty put together but NOT MERGED, clause is doing both things separately but in the same clause- two separate results
g. cond v duty- if lang can be interpreted to create a duty instead of a condition, then a nonoccurrence of the event will result in a breach rather than a failure of cond

i. to determine if lang creates a duty or cond look at lang used, who drafted it (lang often against drafter), subj matter of K, usage of trade

ii. when in doubt ct will interpret lang to create a duty

iii. interpretation- cts will interpret scope of cond, where possible, to make cond easier to satisfy

h. Timing

i. Precedent- duty to pay ins premiums or you won’t get pd for a loss

ii. subsequent- event happens after duty arises and can go back and negate or enforce the duty- you have to file a claim after have an accident and then ins co has duty to pay

i. tools to interpret- look for words of cond, precedent of similar clauses, context of K, policy, UT

i. precedent, “pay when paid” clauses usually find for sub contractor- policy, bad to shift risk to subcontractor (Koch v Construction Tech)

j. Express

i. implied in fact

1. Ex: You are going to paint my house any color I choose- Cond: I have to choose a color

ii. created by the pties through express lang in the K or by necessary implication based on the agreement

iii. Must be satisfied in full- if not satisfied in any respect, it fails and corresponding duty doesn’t mature (NO SUBSTL PERF)

iv. Can’t be breached, can only be satis, exc, or fail

v. Linked to a duty, can cause duty to arise or not to arise

vi. Need to use APT and CERTAIN words, explain the cond in the recitals, show the cond was bargained for 

1. “subject to and conditioned upon,” “if and only if,” contingent upon” “provided that” “if”= wrds of cond

vii. Analysis:

1. Is there a condition?

a. Look to lang of cond, if there then clear there is express cond

b. Sometimes lang not clear, use tools of interpretation (tools we know plus policy against forfeiture)

2. If yes, what has happened to that cond (satis, exc, failed)?

a. Interpretation can come up again

b. To satisfy the cond, requirements must be strictly me

viii. Howard v Federal Crop Ins- tobacco farmers insured against weather dmg, rain dmged crops, before inspection they’d plowed under tobacco, so Δs refused to pay- duty = to pay the claim, is inspection cond?  No, ins co has to pay, policy to avoid forfeiture

k. Constructive

i. implied in law

1. do not arise from the agreement of the pties but rather from the absence of agreement by the pties

2. link the pties duties together: timing

ii. three diff types

1. Immediate transaction: where performances are simultaneous then each pty’s cond is conditioned on the other pty’s perf- one pty must tender perf before other pty’s duty matures

2. One pty’s perf tales longer

a. Satisfaction does NOT require full compliance (substl perf)

i. If have substl perf, other pty’s duty to pay matures, although still might have claim for dmgs

ii. DOES NOT apply to sale of goods

iii. Factors for substl perf:

1. extent of nonperf

2. purpose of K

3. desire to be gratified

4. excuse for deviation

5. extent of forfeiture

6. adequacy of dmgs

7. good faith

b. Pty’s whose perf takes longer has to go first (and they have to substlly perf before pymt demanded)
c. Stewart v Newbury- contractor expecting money while working, “pd in usual manner”- pties could’ve agreed on pymt sched but since they didn’t, implied in law- have to have substl perf before pymt demanded (legal rule)

d. Substl perf NOT present when roof installed b/c not uniform color as K stated, value of roof little, cost to make right huge (Grun Roofing v Cope) 

e. Contractor built wall in wrong place in home, cond on owner’s duty to pay satisfied by substl perf but contractor didn’t perf duty exactly right, contrctor has to pay dmgs (diff btwn substl and full perf) (Plante v Jacobs)

f. Need to use “APT AND CERTAIN WORDS” to create an express cond, otherwise will be constructive cond, need more than “must” (substl perf in Reading pipe case b/c cond was interpreted as constructive, opinion also v based on fairness Jacob and Youngs v Kent)

g. Policy against forfeiture is v imp

h. If K is divisible, can apply subst’l perf, if indivisible can’t apply substl perf 

i. To decide if divisible look at intent- apportionment of consideration, purp of K, termination clause, language of K (4 steps to create microwave magic trees, company went bankrupt after performing 1-3, no purp of K w/o 4th step- Penn Exchange Bank v US)

ii. If divisible, only partial forfeiture (pymt separated by each of 7 signs in John v United Advertising)

i. UCC- 2-601- perfect tender rule- if goods fail to conform to the K in any way, that is not perfect tender and buyer can: reject the whole, or accept the whole, or accept any commercial unit and reject the rest

j. 2-602- buyer has to reject w/in a reas time after delivery and notify seller of rejection

k. 2-508 (1)- w/in time for K perf seller can fix problem by sending conforming goods

l. 2-508(2)- gives seller a little extra time to fix it beyond the time for perf of K as long as buyer allows this extension

m. 2-608- once you accepted delivery of goods can’t revoke unless defect substlly impairs the value (under 601 can reject for any reason before accepting)

n. 2-612- where there is an installment K, and you get a non-conforming installment, you can reject but the installment has to substlly impair the installment or the entire value of the K

o. DO NOT use substl perf with a UCC case

3. Two ongoing performances- if both performances are ongoing then each pty’s duty to continues performing is conditioned on continued perf by the other pty

a. material breach- both pties have ongoing duties to perform, each pties perf is conditioned on other pty committing no material breach

iii. All constructive conditions are promissory conds b/c they link the pties duties together

1. constructive conds are implied in order to link those pties duties together, therefore are promissory conds

2. I’ll sell you my book for 20 dollars- each made a promise, conditioned upon each other

l. Excuse

i. If excused, impact on duty is exactly the same as if the cond was satisfied

ii. Can apply to express or constructive conds

iii. Waiver = giving up of something, voluntary, manifestation of intent to waive right to something

1. if accept late pymts several times, a series of waivers is occurring unless there is a no waiver clause in the K b/c allowing the buyer to rely on late pymt, seller would have to give notice that now expecting strict compliance to change (Mercedes Benz Credit Corp v Morgan- can’t retract course of perf but can retract waivers, repeated waivers can be CP like in Nanakuli)

2. to waive something: needs to be express or implied by conduct (Reading pipe case- architect could have inspected but didn’t)

3. Pty who waives the right can retract it (retraction of future waivers) but can’t retract where creates some unfair disadvantage

4. Effect of waiver- excuse the cond, attached duty will mature

5. Technically happens before perf is due

6. Election- waiver that occurs after perf is due

7. Estoppel- if you waive and then there is reliance before perf is due, then you are estopped from retracting your waiver

iv. Prevention- some kind of conduct on part of one pf pties that keep the cond from occurring

1. NRA prevented board from satisfying cond of approving sale to buyer, prevented cond from occurring, have to pay broker- Shear v NRA
v. Hindrance- intentional conduct of one pty to prevent perf of other pty, interference w/ ability to perf (prevention lite)

vi. Impossibility- cond can be excused when perf of that cond is impossible

1. insured disappeared, 4 yrs later car pulled out of river, ct said no recovery b/c express cond on notice shortly after accident and insured took risk when signed, dissent said injustice occurs by allowing this (Hanna v Commercial Travelers’)

vii. Overriding- excusing the cond for no reason other than forfeiture, last ditch effort

1. option to renew lease required 6 mo notice, gave 1.5 mo notice, ct said restat against forfeiture, big loss to tenant (improvements etc) not big to owner needs new tenant, dissent K should be strictly construed, not landlord’s fault tenant didn’t know (JNA Realty v Corss Bay Chelsea)

viii. Restitution/ UE- recovery in spite of no K rights

1. possible when contractor used wood lath instead of required rock lath, owner made the contractor stop, recovers amt of benefit not amt of K, owner gets dmgs too (Kirkland v Archbold)

m. In general the law will avoid a forfeiture

D. Anything less than full perf is a breach

E. Material Breach

a. A material breach affects the non-breaching pty’s duty to continue performing. Can be partial or total.

     K--------------------Material Breach----------------Subtl Perf/ Imm Breach----------------Full Perf
b. Factors to find if material (Restat §241) (same as for subst’l perf)

i. Extent of breach (deprivation of benefit)

1. rust, cobwebs, tomato on sign that company supposed to maintain was too minimal to be material (Walker and Co v Harrison)

ii. Adequacy of dmgs to compensate non-breaching pty

iii. Forfeiture extent

iv. Cure likelihood

v. Good faith

c. Immaterial breach does not affect the other pty’s duty, although NBP will have a claim for dmgs

d. Material breach = breaching pty has NOT substlly performed

e. Condition on my duty to perform is no material breach by you- if material breach by you then cond has failed, I get to stop performing

Material

partial

cure




Total (duty is discharged)


Breach

(dam)



 
immaterial (duty continues)

f. Partial material breach- allows other pty to suspend perf- reas time to cure

g. Total material breach- can result in discharge of the other pty’s duty when delay will hinder the NBP’s opportunity to cover and time is of the essence 

h. to determine if duties are discharged (if partial or total):

i. factors from §241

ii. time is of the essence- if there is a real urgency

i. decision to claim breach is “fraught with peril”

j. breach may be excused if NBP has in some way caused the breach by hindering or preventing the breaching pty’s perf

k. breach may be waived by the NBP

F. Anticipatory repudiation

a. Repudiation of the K by one pty is treated like a breach even though time for perf is not due

i. Something that occurs before the duty has matured, it is some kind of indication that one of the pties is either not willing or not able to perf

b. Repudiation = express statement of unwillingness or inability to perform, or a voluntary act which renders the pty unable or apparently unable to perform, before perf is due

i. Non-repudiating pty claims anticipatory repudiation 

c. 2 consequences:

i. non-repudiating pty has an immediate claim for breach (can sue repudiating pty before perf is due)

ii. non-repudiating pty can go about business, duty discharged, can get substitute perf

d. Policy: want to free people up and go on with their lives

e. What constitutes repudiation:

i. Unequivocal statement of unwillingness or inability to perform

1. letter saying having hard time getting steel is not enough b/c not clear enough to show antirep McCloskey and Co v Mineweld Steel
2. high bar b/c don’t want forfeiture and want pties to be able to collaborate and work out their problems

ii. Can occur by unequivocal conduct that indicates an inability or unwillingness to perf

1. no time specified to finish paving driveway, contractor kept not coming despite phone calls, ct said contractor not following through with promise to come the next day show unequivocal repudiation Wholesale Sand and Gravel v Decker
f. Decision “fraught with peril”

g. Exception: doesn’t apply when one pty has fully performed and the only duty remaining is to pay money

h. Prereq: in order to claim breach by anti rep the non-repudiating pty must be able to show that he could have performed 

i. Inquiry into non-repudiating pty’s ability to perf relevant Kanavos v Hancock Bank
i. Retraction- a pty can retract her repudiation before the other pty changes position in reliance on the repudiation, or indicates that he considers the repudiation final (restat §256)

i. §257- effect of urging perf in spite of the repudiation- injured pty does not change the effect of a repudiation by urging the repudiator to perform in spite of his repudiation or to retract his repudiation

ii. acting troupe won b/c opera house’s letter showed still planned to perf under K (not consistent with §257 today) Bernstein v Meech
G. Demand for assurances

a. Even when there has been no repudiation, a pty who has reas grounds to believe that the other pty will not be able to perf can demand assurances of perf

i. Failure to then give adequate assurances can then constitute a repudiation

ii. If demand is commercially reasonable, can suspend performance while waiting to see if going to give assurances

b. Comes into play pre-breach- can come in just before repudiation if you are not sure

c. When can you ask?

i. When have reasonable grounds for being nervous
ii. In UCC- demand has to be in writing

iii. Not ok to be nervous way before pymt due (Δ asked for assurances when heard π was having hard time getting financing for water tank PDM v Brookhaven)

d. What can you ask for?

i. Can’t ask for something that was not in K and was expressly refused by other pty during negotiations (PDM couldn’t ask Brookhaven to put money in esgrow and personal guarantee PDM)

ii. Can’t ask for something that goes far beyond the scope of the K

e. What assur are adequate?

i. Assurance to make modifications if burners did not work was not enough b/c buyer and seller knew that modifications would not work b/c didn’t work in other plants- Creusot Loire Int’l v Coppus Eng
ii. Failure to give adequate assurances may then constitute repudiation

f. Effect on demanding pty’s duty

i. If not commercially reasonable, have to keep performing

ii. If valid demand, and no assurances given, go on to repudiation analysis

H. Horse case

a. Δs sold Fleet Nasrullah, wrote πs letter “released from reservations from FN”- πs would tell client this was an anti repudiation, client probably wants to breed still, write letter telling Δs they don’t consider repudiation to be final, so can change it, may also want to demand assurances

i. Δ should have gotten new owners to take over their end of the K (delegate K rights) w/ an indemnity clause so π can’t come after them

b. When πs told horse caretaker to breed SS to Chateguay for $10K (after several attempts to breed FN to SS, booked each time)- π would be able to allow SS to breed with Chateguay b/c repeated times trying to set up breedings w/ FN shows clear repudiation and ok to rely on this, if still want FN could ask for assurances

c. ***STUDY THIS****

IV. What is the appropriate remedy?
A. Remedial system is based on 3 policies:

a. Protect expectation interest (forward)

i. Want to put injured pty in position they would’ve been in if the K had been performed in full

1. buyer of painting with bad warranty had to give painting back to original owners- art gallery had to pay buyer amt originally pd + interest (what is it worth currently)- Menzel v List
ii. When this is not appropriate (dmgs are too speculative or are inadequate) measure dmgs based on the injured pty’s reliance or restitution interests (backwards looking)

1. opera house had to pay acting troupe their reliance expenses, money they spent in preparing to perf (K said they would get 50% of profits b/c perf never occurred too speculative)- Bernstein v Meech
2. Restitution interest- look at value of benefit conferred on the breaching pty, put monetary value on that benefit

iii. Need to look at direct dmgs (value of painting) and consequential dmgs (Enos moving story)

b. Redress breach (neutral)

i. Remedies are intended to make the injured pty whole rather than punish the breaching pty- no punitive dmgs available for breach of K (Miller Brewing Co v Best Beers)

ii. Efficient breach- it is good for the economy to allow people to choose to breach their Ks and then compensate people for their breach- hard to reconcile this w/ GF, doesn’t always work b/c non-breaching pty is not always compensated for everything (attny’s fees for non-breaching pty)

c. Substitutional relief ($ equivalent)

i. Monetary value of whatever the deficiency is

1. why give $ instead of sp perf: sometimes not possible to perf anymore, can lead to waster, hard for ct to evaluate performance, can cause lots of problems

ii. Where dmgs are not adequate, equity can grant specific performance (test: is there an adequate remedy at law)- sp perf usually only for unique item NEVER for service Ks or any other area requiring lots of judge supervision

1. In car cases winner showed car not unique but impossible to get elsewhere, unusual to get sp perf for a car

2. Circumstances can be unique even if item itself isn’t that unique

B. Measuring expectation

a. Universal formula- LV (loss in value, what you expected/ what you rec’d) + OL ( other loss, conseq dmgs, caused by the breachm would not have had to pay them if breach didn’t occur) – CA (cost avoided, money you expected to pay but didn’t, money saved) – LA (loss avoided, what you salvaged/ mitigated/ cover/ substitute perf) = dmgs

i. LV + OL – CA – LA = dmgs

ii. From Restat § 347

b. UCC formula - GP (gross profit, K price- expected cost) + RE (reliance expenses, actually spent) + OL (other loss, conseq dmgs) – PP (payments/ proceeds, resale/ salvage) = dmgs

i. GP + RE + OL – PP = dmgs

ii. best for construction K

c. Diminution of value and cost of repair
i. If cost is unfairly disproportionate the benefit rec’d then use dim of value 
ii. cases to think about: Reading pipe case, Peevyhouse v Garland Coal and Mining Co (loss in value v cost of repair), Rock Island v Helmerich

iii. Cts use this b/c could be windfall for π, would never use that much money to fix the problem b/c cost of repair so great in comparison to diminution of value- there is some discomfort w/ awarding lg verdict where unclear if money will be used for purp ct intends

C. Limitations on Damages (be sure to keep in mind causation)
a. Avoidability

i. Damages are limited by losses you could have reasonable avoided 

1. reasonably avoided = commercially reasonable, stopping perf, finishing perf, substitute perf, seeking substitute perf

ii. You cannot take advantage of breach by manipulating the situation to get more dmgs

1. You cannot keep performing after the other pty has breached- Exception: UCC 2-704- Seller can complete manufacture of goods for resale if based on commercially reasonable judgment]

a. Seller is not penalized for being wrong assuming it was commercially reasonable decision

b. Factors to determine if commercially reasonable: v fact specific, totality of the circs

iii. In some circumstances you must make reasonable efforts to find a comparable substitute (Ex: substitute employment or cover in the sale of goods)

iv. There is no duty to mitigate dmgs (Shirley MacLaine didn’t have duty to accept the role in Big Man instead of Bloomer Girl- Parker v 20th Cent Fox Films)

b. Forseeability

i. Damages are limited to those which naturally follow from the breach in the ordinary course of events, or which, because of special circs, the breaching pty had reason to know about (i.e. limits dmgs to dmgs that were foreseeable at time pties entered into K)

ii. Policy: can be endless if don’t limits, allocate risk (this is part of negotiations, negotiate according to foreseeable universe)

iii. Foreseeable if:

1. Told the other pty- if the mill owners had told the carrier about the special circs, the mill is closed and we are losing tons of money- Hadley v Baxendale
2. Reason to know or if dmgs would happen in the natural course of events (even if not expressly communicated)- expert in repairing crankshaft may be aware that mills generally only have one shaft

a. Knew about her political views and firing Vanessa Redgrave from v publicized show, was foreseeable that if you fire her, other people might be scared and not hire her, this could occur in natural course of events- Redgrave v Boston Symphony Orchestra
c. Certainty

i. Dmgs are limited to those which can be established w/ reasonable certainty

ii. Need lots of evid to prove, v fact specific

1. For Vanessa Redgrave- show testimony about what people are saying, cancelled engagements, what she usually charges

2. Previous sales from the previous month of the hardcover edition of Hunt for Red October

3. Reliance interests

4. KFC never ended up buildings 2nd location, reas basis for calc what profits would have been at new location but not for old location b/c keep old location on mo to mo basis Pauline’s Chicken Villa v KFC
D. Liquidated Damages

a. Dmgs that the pties agreed to for certain breaches on the front end

b. Benefits of liq dmgs:

i. Takes care of certainty issue- can allocate costs and plan accordingly

ii. Don’t have to go to ct

c. Dangers of liq dmgs:

i. You don’t get enough or you give too much

d. Problem occurs when lig dmgs cl looks more like a punishment than a remedy

i. Can seem like punishment for being late- timing has to be v imp

e. C and H Sugar Co v Sun Ship- Term in K for liq dmgs of $17K/ day, tug was late and barge was late

i. there is no duty to mitigate b/c pties agreed to this on front end (doesn’t matter that they found sub perf)

ii. not a penalty when look at time K entered into and has to be reas estimation of what those dmgs would be 

iii. one pty’s breach doesn’t excuse another pty’s breach (still on hook for your breach) 

E. Nominal dmgs- if all else fails (there is no measurable loss and no practical way to grant equitable relief) the ct will award a small sum w/o regard to amt of loss

V. Are there any third party issues?

A. Everyone who is not a pty to the K is a 3rd pty, have to decide if any of them have any rights or obligations w/ respect to the K

B. 2 ways to have a legal interest in K:

a. Third Pty Beneficiaries

i. Pties to the K intended the TPB to have the benefit of the perf

ii. The TPB’s rights are created when the K is formed

iii. Questions to consider:

1. What is the status of the TPB- intended or incidental?

a. Intended- pties to K intend to benefit the 3rd pty

Promisor

Promisee








TPB (Pe owes TPB a debt or Pe 








want to give TBP a gift (TPB = donee))

i. Any defense that will work against the Pe will work against the TPB

ii. If didn’t know about benefit/ P no vested rights

iii. How do rights vest:

1. says in K to refrain from modifying K to change TPB’s rights

2. TPB relied on P

3. TPB manifests assent, acknowledge in some way assent to receive the benefit

b. Incidental- benefit is incidental to K, no legal int

2. What defenses does the promisor have against the TPB?

3. Can the TPB’s rights be modified?

a. Yes unless the TPB’s rights have vested

b. Assignment and Delegation

Pr



Pe

Obligor


Obligee

delegate
Delegator


Assignor
Assignee

i. A/D comes up after K is entered into, then decide you want to give out some of your duties/ rights to other pties

ii. Delegate duties, assign rights
iii. Once a right has been assigned or a duty delegated, the 3rd pty then stands in the place of the original pty to the K

iv. Everybody is on the hook down the line of delegates unless the promisee agrees to release the pties 

1. Once you assign your rights you are out (not so w/ delegation)

v. Two basic issues

1. Restrictions- start w/ premise that duties are freely delegable and rights are freely assignable- limits: pties could agree in K not to delegate/ assign, pties could agree in K that only assignable upon approval, something that changes the circs, reas grounds to object

2. Defenses- if Pe breaches, Pr can assert that as defense against the assignee- any defense can be asserted against the assignee that the Pr could assert against the Pe

Judge will look at doc + ET at least (more in more liberal juris) then decide what to let in 








� CD = two pties’ relations prior to the signing of that K


� CP= two pties one K performing
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